


































Examples:

Target Sentence Subject’s Recall
Attempt

Condensed
Verbatim
Transcription

The snake handler
wrapped his finger in
a Band-Aid after get
ting a nasty bite.

The snake handler
wrapped his wrist
after a particularly
nasty snake bite.

The snake handler
wrapped his
after
a nasty bite.

Rainbows have colored
the sky this week
during the ongoing
thunderstorms.

Rainbows colored the
sky after a whole
week of
thunderstorms.

Rainbows colored
the sky week
thunderstorms.

The hostess ate all the
leftover food after the
party guests had all
gone home.

The hostess ate all of the
leftover food after the
guests had left the
party.

The hostess ate all
the leftover food
after the party
guests had.

Assignment of gist points

Using the verbatim score (# words in condensed verbatim
transcription) as a starting point, a gist score was computed
by adding additional points for words that helped expressed
the meaning of the target sentence.

Gist words that were given 1 point per word:

1. Synonyms or semantic substitutions were given 1
point if they retained the overall meaning of the
sentence and made grammatical sense. If a semantic
substitution that did not make grammatical sense
was made, it was not counted as a gist point (see
Example 1). Please refer to the section below for
information regarding phrasal substitutions.

2. Morphological substitutions (e.g., inflectional chang-
es) were given 1 point if they retained the overall
meaning of the sentence and made grammatical
sense. Verb tense changes, which fall within the
category of morphological substitutions, were also
given 1 point. See Example 2.

3. Direct determiner substitutions were given 1 point (see
Example 4). Pronoun substitutions for determiners
were also given 1 point (see Example 3). Pronoun substi-
tutions for other pronouns were not given any points.

4. Prepositional changes, if they retained the meaning of
the sentence, were given 1 point. See Example 2.

Phrasal substitutions that were given a varying number
of points:

Importantly, phrasal substitutions were given the same
number of points as the verbatim phrase would have received
(e.g., if a phrase consisting of two words is substituted for one
word, only 1 gist points was given). This was done to avoid
inflating a score when a substitution contained more words
than the target. See Example 4.

Examples (gist words are in bold):

Number Type of
Gist
Word

Target
Sentence
(Number
of Words)

Subject’s
Recall
Attempt
(Verbatim
Score)

Additional
Gist
Points

1 Prepositional
change,
Semantic
substitution

My under
standing
relied
upon my
being able
to
interpret
the data
easily. (12)

My understanding
relied on my
ability to
interpret the
data easily.
(9)

2

2 Morphological
substitution
(verb tense)

The skydiver
leapt from
the plane,
seeing dot-
like trees on
the ground
below. (13)

Skydiver leapt
from the
plane and saw
dot-like trees
down ground
below. (9)

1

3 Pronoun
substitution
for
determiner

A peacock
displays its
beautiful
plumage in
order to
attract a
suitable
mate. (13)

A peacock
displays its
beautiful
plumage in
order to
attract its
mate. (11)

1

4 Phrasal
substitution

Computers can
replace
human
workers in
some but
not all white
collar jobs.
(13)

Computers can
replace
workers in
only a
limited
number of
white collar
jobs. (8)

4

Quantification of error types

For each recall attempt, we counted the occurrence of six
types of errors.

1. Major order change
One major order change might include:
One open-class word exchanged for another, or;
One phrase or clause exchanged for another.
Example: BThe ship deviated from its course dur-

ing the night^ → BThe ship deviated in the night
from its course.^

2. Unrelated addition (open-class words)
An unrelated addition included any open-class word

that was included in the recall attempt but did not
occur in the target sentence, was not synonymous with
a target word, and could not be considered as another
category of error defined below.

Example: see #3 below.
3. Semantic substitution (open-class words)

A semantic substitution included any open-class word
that was exchanged for another andwas synonymouswith
the original word.

Mem Cogn



Example: BThe stranger impressed the villagers with
his honesty and integrity. → The stranger impressed the
town with his kindness and generosity.^

Here, town is scored as a semantic substitution,
as a near-synonym for villagers. Kindness and
generosity are scored as unrelated additions, be-
cause they are not synonymous with the target
words.

Grammatical substitution (closed-class words)

One grammatical substitution might include:

& One closed-class word exchanged for another, or;
& An original word that was pluralized, or;
& An original word that was changed in tense, or;
& Two words that were contracted.

Examples: BLiterature attracts students who enjoy
reading poems more than doing math problems.^ →
BLiterature attracts students that read more than those
that play sports.^

That and read are both scored as grammatical substitutions,
while play and sports are unrelated substitutions.

Phonological substitution

A phonological substitution included any open-class word
that was changed to another that sounded phonologically sim-
ilar to the original word.

Example: BThe train halted and a long line of passengers
began disembarking onto the platform.^ → BThe train halted
and there was a long line of passengers coming on the
plateau.^

Plateau is a phonological substitution for platform. Other
errors in the sentence are not discussed here.

Open-class omissions

An open-class omission included any complete omission of an
open-class word.

A semantic substitution was not counted as an open-class
omission, but an open-class phonological substitution was
counted as an open-class omission.

Example: BThe tire ruptured because of an enormous nail
protruding from the road surface.^ → BThe tire ruptured due
to the nail protruding from the road.^

The omissions of enormous and surface result in two errors
being scored in this category.

Appendix D: Full sentence list

Concrete sentences

The waiter droppedmany of the plates as he served the hungry customers.

Giraffes evolved to be tall enough to eat leaves on the upper branches of trees.

The thieves siphoned gasoline primarily from larger vehicles that held
greater amounts.

The angry housewife locked the bedroom door so her husband could not enter.

The farmer woke early to collect the eggs before the summer sun became
unbearable.

The audience gasped as the tightrope walker struggled to regain her
balance.

The flowers wilted in the garden after the caretaker forgot to water them.

The lions descended upon the helpless wildebeest and subsisted on its
meat for several days.

Rainbows have colored the sky this week during the ongoing thunderstorms.

The fog obscured the view of the city skyline from the expressway.

The cart rolled down the corridor and crashed into the overstuffed bookshelf.

The team enjoyed celebratory ice cream sandwiches on the field
following the winning goal.

The teenager decorated her room but accidentally spilled paint on the bed.

The turtle retracted its head into its shell when a child tried to touch it.

The mirror shattered into several tiny pieces when I dropped it on the
stone floor.

The archer launched the arrow directly into the center of the distant target.

The boy sneaked himself some chocolate-chip cookies while his mother
was away.

The skydiver leapt from the plane, seeing dot-like trees on the ground below.

The boats evacuated the sinking battleship’s crew, saving hundreds of lives.

Cheetahs run faster than the antelopes and gazelles that they eat.

Swimmers dive off the starting blocks immediately when thewhistle blows.

The snake handler wrapped his finger in a Band-Aid after getting a nasty
bite.

The athlete jumpedover the chainlink fencemainly to impress the cheerleaders.

The building emptied after somemischievous children set off the fire alarm.

The gorilla beat his chest as the school children watched from behind the
glass.

Bears may attack hikers without warning when encountered in a
wilderness setting.

The grandchildren removed their shoes just before stepping onto the
expensive carpet.

The baby slept peacefully in the carseat throughout the entire car ride.

The tire ruptured because of an enormous nail protruding from the road surface.

Boxes are accumulating in the mailroom because the workers are on
strike.

The referee declared the match over after the defending champion was
knocked out.

The hostess ate all the leftover food after the party guests had all gone home.

The ship deviated from its course during the night and collided with an
iceberg.

The football slipped out of the receiver’s hands, but was recovered by a
defender.
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A peacock displays its beautiful plumage in order to attract a suitable mate.

Sausages can burn if left to sizzle on the barbecue for too long.

A bridge crosses over the river, connecting the two halves of the city.

The cookies rested on the granite countertop until they were sufficiently cool.

The stereo shook the windows of the apartment and reverberated
throughout the building.

The golfer drove the ball onto the distant green with one excellent shot.

The mechanic screamed when his helper accidentally dropped a wrench
on his foot.

A tornado destroyed the farmer’s house and scattered the pieces over the fields.

The bear hibernated in a cave all winter, emerging only when the snow
had melted.

The bleachers collapsed when the spectators all stomped their feet
simultaneously.

The juggler kept all three balls in the airwhile somersaulting off of her unicycle.

Retrievers will sniff the ground obsessively until they discover the source
of a smell.

The delivery man waited at the door and ground his teeth in impatience.

The potato chips crunched loudly in the teeth of the kids in the movie theatre.

The nurses rushed into the room when the patient pushed the alarm button.

The groom slid the ring onto her finger with an enormous smile on his face.

Abstract sentences

The commandments prohibit adultery as a severe offense against the
community.

The guidelines summarize past case outcomes and help to streamline
future work.

A resume will boost one’s self-esteem by summarizing all of one’s ac-
complishments.

Distrust deepened into suspicion and ultimately ruined the deal between
the men.

The vision arose from a brainstorming session on a Friday afternoon.

The group failed to achieve the stated objectives, much to their leader’s
disappointment.

The structure of the company impairs attempts to improve efficiency.

The actress feared that the shocking revelations would affect her career.

Quotas are tightening as applications for admission surge to ever higher
levels.

The accountant regretted that he did not understand finance well enough
to do the job.

Abortion looms as a particularly divisive issue in the coming elections.

The stranger impressed the villagers with his honesty and integrity.

The manual includes instructions for keeping the software up to date.

Income rises at about the same rate as inflation in a healthy economy.

The urge subsided as quickly as it had come and she no longer wanted it.

The formula calculates the likelihood of rain or snow over the next week.

The party refused to support the newminister and demanded her resignation.

The senator argued strongly in favor of the bill, until it was finally passed.

Stocks have declined in value recently as confidence in the market has fallen.

Software changes rapidly, making it hard to share projects between sites.

A good parent teaches strongmorals but can not force a child to adopt them.

The bible clearly states the laws that believers must live by every day.

Yeast serves as an increasingly important model for the study of life.

The health of older citizens has been improving under the current system.

Literature attracts students who enjoy reading poems more than doing
math problems.

Game theory models situations in which outcomes are dependent on
choices made by others.

The scientist considered the problem but finally gave up on solving it.

The patient complained of chronic unrelenting pain despite the medication.

Tuition has escalated over the past few years despite an economic downfall.

The loans came due at the end of the year, but they have not been repaid.

The doctor retired because there was very little demand for his services.

Transportation poses a major challenge to long-term planning in cities.

Book themes provide the reader with an easy method to analyze classic
literature.

The internet distracts many students from their studies and harms productivity.

Our friends discussworld politicsmuchmore frequently thanmost people do.

The clerk forgot the procedure for reconciling the budget at the end of the year.

Scandals plagued the party members and ended their hopes for re-election.

This miracle inspired the townspeople to a higher level of faith.

My understanding relied upon my being able to interpret the data easily.

The journalist pondered his next career move following a disastrous job
interview.

The solution appears obvious if you spend enough time working on it.

Some pundits ignore all information that does not fit with their position.

The president handled the crushing defeat gracefully despite his bitter
disappointment.

The journal accepted the article after the revisions were submitted.

Counselors advise students on their options when choosing a university.

Leaders possess attributes thatmakeotherswant to help themachieve their goal.

Calculus ruins the career plans of students who would otherwise succeed.

The voters expressed their preference for a vastly different style of government.

The Greeks developed a complexmythology to explain the natural world.

The afterlife varies greatly in importance across different religions of theworld.

The technique assists many students in the tedious chore of memorizing
the tables.

Placebos can cure many diseases if their secrecy is maintained effectively.

The warning affected everyone’s mood as we tried to continue with our
normal work.

Good employers create opportunities that allow their employees to
advance steadily.

The official said that he was not authorized to change the decision.

The government suggested that everyone over the age of eighteen should vote.

The policy solved some of our biggest problems but also created new ones.

The pianist evaluated his prospects before switching majors to business.

The lawyer spent hours preparing for the trial before the case was settled.

The results implied that the theory hadbeenmisguided from the very beginning.

Some citizens violate civil laws without knowing that they are doing so.

Celebrities support a large media industry simply by living their lives.

Jealousy can threaten friendships when one person is more successful
than the other.

Ideas translate best into actionwhen themotivation is there to see them through.

An advisory was issued for all man-made products containing sulphuric acid.

Education can lift people up into a higher social status than their parents
achieved.
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